Worksheet for the spreadsheet “Cardinal utility”

All of the questions below should be answered by changing the numbers in the shaded cells in the spreadsheet.  Since some other cells have messages that are hidden when not required, do not type anything in any other cells, even if they appear empty!  If you pass the cursor over the red triangles, a comment will appear, with information about what is in that cell.

Start by choosing values for the marginal utility from each of the goods, using cells B7 to B12, and B18 to B23.  It is usual for each cell apart from B7 and B18 to have a lower value than the cell just above it.  In other words, you should have diminishing marginal utility.

Choose the consumer’s income (in cell D4) and the two prices (in B3 and B14).

If you increase the price of cider, how does the slope of the (purple) budget line change? ____

If you reduce the price of cider, how does the slope of the budget line change? __________

If you increase the price of jeans, how does the slope of the budget line change? _________

If you reduce the price of jeans, how does the slope of the budget line change? ________

If you increase the level of income, how does the budget line change? ___________

If you reduce the level of income, how does the budget line change? ____________

What happens to the budget line if you double the level of income and both prices? _______

Choose a level of income, and prices, so that you get a single “best” combination.  Asterisks in column D show how many bottles of cider and pairs of jeans the consumer should buy.

How much marginal utility does the consumer get from the last bottle of cider bought? _____

How much was spent on this bottle? _______

How much marginal utility was obtained per pound? __________

How much marginal utility would the consumer get if they bought another pair of jeans (i.e. bought the number just below the asterisk in column D)? ______

How much would they spend on that pair? ___________

How much marginal utility would they get per pound? ______________

Is the last bottle of cider a better buy than the next pair of jeans?

How much marginal utility does the consumer get from the last pair of jeans bought? _____

How much was spent on this pair? _______

How much marginal utility was obtained per pound? __________

How much marginal utility would the consumer get if they bought another bottle of cider (i.e. bought the number just below the asterisk in column D)? ______

How much would they spend on that bottle? ___________

How much marginal utility would they get per pound? ______________

Is the last pair of jeans a better buy than the next bottle of cider?

How close are the marginal utility per pound of the last pair of jeans and the last bottle of cider? 

If we could make, and look at the effects of, really small changes in quantity, these marginal utilities per pound would be identical, but this is not possible when we are just looking at a few combinations. 
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